6051 — Buckner River Dance to Carrollton

6051 — Buckner River Dance to Carrollton

(Buckner, New Castle, Campbellsburg, Carrollton, New Castle,
Eminence, La Grange, Buckner) 99.5 mi, Cumulative Climb: 6490
ft, avg: 65 ft/mile Start: YMCA, Buckner, KY

Dr. Larry Preble, Cell: (502) 724-8477

(Buckner, New Castle, Campbellsburg, Carrollton, New Castle,
Eminence, La Grange, Buckner) 99.5 mi, Cumulative Climb: 6490
ft, avg: 65 ft/mile Start: YMCA, Buckner, KY

Dr. Larry Preble, Cell: (502) 724-8477

Miles | Turn | Road Miles | Turn | Road
0.0 Start | YMCA in Buckner, KY 0.0 Start [ YMCA in Buckner, KY
0.0 S Quality Place 0.0 S Quality Place
0.4 L KY 146 0.4 L KY 146
1.5 R S Highway 393 1.5 R S Highway 393
1.8 L Commerce Pkwy 1.8 L Commerce Pkwy
5.0 L Parker Dr 5.0 L Parker Dr
5.2 It KY 53 (S 1st St) 5.2 L KY 53 (S 1st St)
5.5 R Washington 5.5 R Washington
5.7 L Oak 5.7 L Oak
5.75 R Main 5.75 R Main
6.3 S Becomes Hwy 712 - Jericho Rd 6.3 S Becomes Hwy 712 - Jericho Rd
11.1 R KY 153 Jericho Rd 11.1 R KY 153 Jericho Rd
13.3 L KY 153/KY 1861 13.3 L KY 153/KY 1861
14.0 L KY 1861, then quick Rt to stay on 1861 14.0 L KY 1861, then quick Rt to stay on 1861
19.4 L KY 55 19.4 L KY 55
20.5 Stop | Gas Station on the Right, then Rt out of 20.5 Stop | Gas Station on the Right, then Rt out of
Stop Stop
21.1 L KY 146 La Grange Road 21.1 L KY 146 La Grange Road
21.6 R KY 157 21.6 R KY 157
25.8 R KY 997 25.8 R KY 997
30.7 R US 421 30.7 R US 421
31.7 L KY 55 31.7 L KY 55
34.7 L KY 316 34.7 L KY 316
39.3 R KY 1335 39.3 R KY 1335
48.4 R US 42 48.4 R US 42
49.1 S Bridge over Kentucky River 49.1 S Bridge over Kentucky River
49.4 L 2 St 49.4 L 2 St
49.5 R Main St 49.5 R Main St
49.8 Stop | Welch’s Riverside Restaurant on Left 49.8 Stop | Welch’s Riverside Restaurant on Left
Then Turn around, backtrack on Main Then Turn around, backtrack on Main
— — q
G - O ~ [ Ewi )
2= : =l |3 5
— g [} +~ =
— &= ~ =)
2[5 8 CERERE g3
Sle e o £ 2 S s O
Q Z 5 S o - > 5 g
= S > g - - ho) E = E
olgs s~ > ) & 5 8 b7 I
1585 | M < 2l 2 |= 2 S 8
8 =) § = N e 3} [0) Q .
S .20 Q9 — Qf‘ — 5 Q o) E ,.g o
% OFE = 8 2 | =~ o2& | = = = 5
Aleazel 3]s |88 |2 S EEENERE I | |52
L"‘;gégi !IIE > o 2% | 5= =] < 5 2 s
L = AS < S [a ) Sl el Rl 5 wn|™ o — 2 — Vo) = ~ E
= B B S HE R E R R EE S ER R S E P R N e e s
o -2 I Bl o Tt o A e 1 s B
== 2 & @ s[> 5 SI=|S| 8> > > 3 ol Lol 1221 E5 ol ol 1Y B=1 B T B
oloBa 25540 S| £[4| = S| 5|82 ) 2 (4] S 5|4l 54| <[5 8| & 2|5 &
Slo 2 & & £l e ¥ o
e P I ] e o o T I 1 A o A B S T i = T A B N R A B R A
) EER z z
— qh: g’: 2
Ll28£5|g
215 g 2 2| 2lelelx|vxe|e|alv|s|llal =222 [T 2[R(S]S] S92 T 2 e
St -t =] O e B ) o B Y B P B B B RS B S
~ o




50.1 L [2vst 50.1 L |2vst
50.2 R US 42 50.2 R US 42
50.6 L KY 55 Newcastle Pike 50.6 L KY 55 Newcastle Pike
53.1 L KY 389 53.1 L KY 389
62.4 R KY 193 62.4 R KY 193
72.0 L US 421/KY55 72.0 L US 421/KY55
74.8 Stop | Gas Station on the left then left out of 74.8 Stop Gas Station on the left then left out of
store store
75.6 L To stay on US 421 75.6 L To stay on US 421
78.5 R KY 22 78.5 R KY 22
80.6 L KY 55 80.6 L KY 55
80.7 R KY 22 80.7 R KY 22
82.6 R Giltner 82.6 R Giltner
85.7 S KY 1861 85.7 S KY 1861
87.5 R Radcliff Rd 87.5 R Radcliff Rd
89.1 L Blakemore 1 lane road immediately 89.1 L Blakemore 1 lane road immediately
past and adjacent to Bart Smith Ln past and adjacent to Bart Smith Ln
(easy to miss because it looks like a (easy to miss because it looks like a
driveway!) driveway!)
92.3 L KY 53 92.3 L KY 53
92.6 R KY 2856 / Moody Ln 92.6 R KY 2856 / Moody Ln
95.1 S Becomes Elder Park Drive 95.1 S Becomes Elder Park Drive
96.7 R KY 393 96.7 R KY 393
98.0 L KY 146 98.0 L KY 146
99.1 R Quality Place 99.1 R Quality Place
99.5 | Finish | YMCA 99.5 | Finish | YMCA
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